
Name: __________________________  Date: _____________

	1.
	Solve.
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	2.
	Solve.    
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	3.
	Solve.     
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	4.
	Find the mean.

4, 7, 9, 12, 13



	5.
	Find the mean and the median.

–2, 
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	6.
	Solve.  
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	7.
	Solve.    
[image: image7.wmf](

)

356

x

--=





	8.
	Solve.    
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	9.
	Find the length of each side of the rectangle so that it has the given perimeter.


[image: image9.wmf] 

x

 

2

x

 

–

 5

 

P

 = 

50

 in.

 





	10.
	Solve for b.     
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	11.
	Translate the following statement into an algebraic equaion.  Let x represent the number. 


2 more than a number is 13



	12.
	Translate the following statement into an algebraic equation.  Let x represent the number.


6 times a number is 14 more than that number.



	13.
	Ricardo is 4 years less than twice as old as his sister.  The sum of their ages is 20.  How old is Ricardo? (Label the unknowns and show the equation you use for the solution)




	14.
	Convert 0.64 to a percent.



	15.
	Convert 
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 to a percent.  DO NOT ROUND.



	16.
	A furniture store marks up items 20% (based on cost).  If the furniture store buys a couch for $350, what will the selling price be?



	17.
	Which of the below is the graph of the solution set of 
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	A)
	[image: image13.wmf] 


         –1    0

	B)
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      –1    0      

	C)
	[image: image15.wmf] 


      –1    0

	D)
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          –1   0


	18.
	Which of the below is the graph of the solution set of 
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	A)
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          –2   0

	B)
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          –2   0

	C)
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      –2    0      

	D)
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      –2    0


	19.
	Solve and graph the solution set.   
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	20.
	An arithmetic student needs an average of 70 or more to receive credit for the course.  She scored 89, 78, and 89 on the first three exams.  Write an inequality representing the score she must get on the last test to receive credit for the course.
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